Professional PROFESSIONAL EXAMINATION BOARD
Pb examination Pre-Polytechnic Test (PPT) - 2018
board 15th April 2018, 09AM

Topic:- Physics

1) A car travelled 50 m in 30s along a horizontal road. It reached the destination with a velocity
4 times of its initial velocity. During the process, what happens to the potential energy of the
car? /

TP PR &fds TSP W 30 G S A 50 HIeI 1 AT B¢l 81 8 3MUA Tided VI W) URIHS AT
& IR T[T AT & 1Y UGl 81 39 Ufha1 & IR $R 3 fRufaw et @ w6 enfiz

1. Became 2 times of initial potential energy/m@ﬁﬁf Sl B 3|‘|:1 g TR g
2. Became 4 times of initial PE / / URIY% PE &1 IR AT 63[ Bies) | ?ﬂ'ﬂl
3. Became 8 times of initial PE / YR PE &1 316 AT _E-Pf BIp| @Tﬁl

4. Did not change / uRafdd 7‘|€[§_§ _Eﬁ'rﬂl

Correct Answer :-

» Did not change / gRafdd :|€3f§75§ @Tﬁl

2) A black body is at a temperature of 727°C. It emits energy at a rate which is proportional to:

/

TS HIOTHT 1 BT BT BT ATIA 727°C 31 T8 TH &R A FHolt IAtoid HRelt § ol gAB
GﬂaTITﬁﬁ?%:

1. (1000)°

2. (1000)*

3. (727)?

4. (127)*

Correct Answer :-

. (1000)*

3) Which of the following is not a characteristic of a musical sound? /
fFrafafad & J 19 91 v Rar G @ired J8s) 1 a8 T8l 82

1. Quality /0T
2. Loudness / Uddddl
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3. Wavelength /A T
4. Pitch /U=

Correct Answer :-

o Wavelength /AT %Efr

4) Which of the following does not have unit as Joule? /
Frafafaa & 3 feust sor, @l 32

1. Work / T8

2. Force /dd1

3. Kinetic energy / TS 3ol

4, Heat/ 3T

Correct Answer :-

e Force/dd

5) Which among the following does not possess kinetic energy? /
Frafafea o @ frad wfae St 78 gt 82

1. A ball thrown upwards / $HUR P 3R bl §§ Uh Tig

2. A battery /Udh CLRl

3. Amoving car / Wﬂﬂ?ﬁé’gw

4. A flying bird / Ue 33T g3 Ueft

Correct Answer :-
o Abattery /T ol

6) A train moving with a velocity of 30 km/h has a Kinetic energy of 52000 J. When the velocity
of train is increased to 60 km/h, the work done is: /

30 fri/der & A q I aTell TP 37 B A SHell, 52000 A & | T 7 BT A AR 60
it eier o faar wimar 8, @ fpar mar s 8-

1. Work done = 0/ faT T & = 0
2. 156000 ] / 156000 &
3.104000] / 104000 qf‘[

4. 52000] /52000 SfcT

Correct Answer :-
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« 156000] / 156000 Sl

7) A body of mass 2 kg undergoes a change of velocity of 5 m/s in 5s. The force acting on it is: /
2 foron soovm & U fFrera # 59, | s A. 1 A7 aRad= g1a1 81 §9 W S B3 8T 9 §IT:
1.10N

2.1N

3.2N

4.5N

Correct Answer :-

8) If the object is at rest, then the slope of position-time graph: /

e avg favm W B, <t fRuf-wg 71w &1 2am:

1. is zero / LA BIAT G|

2. may be zero /XA 8 IHAT 5|

3. cannot be zero / T T8 &l DT g |

4. always greater than zero / U Y ¥ 3fYF AT 8|

Correct Answer :-

o is zero/?]??%ﬁ?ﬂ%l

9) If the velocity of an object is directly proportional to the time, then the object has: /
afe TP I BT A7, THT & UGS 8, df 39 axg o 2l

1. variable acceleration / TRGHIT @RI

2. uniform acceleration / Th JHTT 30T

3. uniform velocity / YhJHIH T

4. uniform speed / UHIHIA el

Correct Answer :-

e uniform acceleration / ThJHTT U]

10) Bats detect obstacles on their path by receiving the reflected ./

IHIGS WRIdfad P YTt B 3T I | 3T aTelt ST4T3i BT gdT v 2 |
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1. electro-magnetic waves / f&qu-gwﬁlq SELI]

2. ultrasonic waves / URTHY (&@m am
3. radio waves / I1STT A
4. infrasonic waves / 3T (STHTII-) I

Correct Answer :-

« ultrasonic waves / U4 Y (H@'@ﬁ@ a<m

11) What happens when a body is moving in a circular path with a constant speed? /
T 1T 8 99 U fAep1y, fFARaR 91e | U gwitd Uy R 9¢d1 87

1. Force acting on it is zero /WWWWWWQE@W%I

2. Acceleration is not uniform / cdXU] Uch JHTT 7—|€[ egdl %’ I

3. Velocity is uniform /AT Uh JHT Ygdl %I

4. Velocity is changing /371 uRafdd 81 Srar g

Correct Answer :-

 Velocity is changing /371 uRafdd 8 S g

12) What happens when an object falls freely? /

W9 $Ig avg Wad U 4 ARt 8, 99 71 ghan 82
1. Kinetic energy increases KIGEECS a‘cr\‘m?ﬂ %I
2. Potential energy increases ) Fufat Seit CESIG] gl

3. Potential energy is converted to kinetic energy / fyfas Sf, nfast St & gfkafdd g St g
4. Potential energy decreases / TUfast Soott 1 g it %’I

Correct Answer :-

» Potential energy increases ) FRUfasT Sl d¢ St 81

13) A girl travels 6m towards east and then 8 m towards north. Her displacement is: /
TP AP 6 HY. 7d 3 37 3R fb 8 Y. ITR F} 3R ar Hedl 31 ST AT B
1.7m/7 4.

2.10m/ 10 I,

3.14m/ 1441,

4.2m/ 24
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Correct Answer :-

« 10m/10H.

14) The SI unit of velocity is: /

T Pt SI TPTS &
1. ft/s

2. m/s

3. km/h

4. m/h

Correct Answer :-

15) The value of acceleration due to gravity is: /

TF@THYUT & HRUT @IV HT HH:

1. same at equator and poles / zﬁr 3R W{H?HWT TR G a1 §
2. increased from pole to equator / §d 3 H'qu DI 3R Teal g
3. least at equator / EE?W%@T W YAdH g

4. least at poles / ga‘m? YAdH g

Correct Answer :-

o least at equator / y::rw%@ W W@?ﬂ g

16) The unit of sound intensity is: /

i digar @1 318 3
L.J/m?

2. W/m?

3. W/s

4.]/s

Correct Answer :-

xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx



frafafeaa 9 J sialk® gg s+ & fawg & 19 91 T HUT I 82

1. 4-Stroke engines are less efficient but generate more power than 2-stroke engines. /4-@$

&, 2-1 o1 &I JaT B HH G&fdTgUl g & A Y e T ITEH HRd gl

2. 4-Stroke engines are less fuel efficient and generate less power than 2-stroke engines. / 4-@$ 3o, 2-

KIH SoHI B! g1 H HH fad BT IdTad HRd ¢ AR HH U G&AqUl gid gl

3. 4-Stroke engines are more efficient and generate more power than 2-stroke engines. / 4-@75 3o, 2-

I ol B gal | P T&AgUl Bid § SR 3P fad BT IAG B g |

4. 4-Stroke engines are more fuel efficient but generate less power than 2-stroke engines. / 4-@35 3o, 2-

I SO B ol 7 3Hfep 4 G&aTyul €1 § WfcbT b fekl b1 SeTa R g

Correct Answer :-

» 4-Stroke engines are more fuel efficient but generate less power than 2-stroke engines. / 4-Ej$ o,

2-%1e SOl B el # AP $e C&TYUl BId § Al A ek BT IUIGH B |

18) A bag of wheat is weighed at a place near the equator and the same is taken to Antarctica. The
weight of the bag will be .

g & TP A D YA ¥ S GHIY TP R W dIeT o1d1 8 3N I SferdhiedT o ST S gl
A BT IO Hull

1. same at both the places / T RN R IHE
2. less at Antarctica / 3{cTdhfedT H HH

3. more at Antarctica / 3{eTh e H i

4, zero at Antarctica / 3icThiedT i

Correct Answer :-

e more at Antarctica / mﬁ HfH

19) An electric train is moving with a speed of 180 km/h. How much distance will it cover in 1 minute? /
T fagad ¥a, 180 fHHi/be o1 TR | ¢ W81 81 75 1 fde | favaeit gt aa syl

1.180m/ 180 HI

2.50m /50 HI

3.300 m /300 |
4. 3 km /3 fopeY

Correct Answer :-

e 3km/3 fHHT

20) In vacuum, a beach ball falls at the same rate as an apple because: /
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frafa A ue 99 91d vd T 99 & TRA 31 3T U JHHE il 7, Hifb:

1. in vacuum there is no gravity / IBEIGEE] {LQ’COIIOMTUI :lﬁf S\I(‘II %I

2. the frictional force acting on both is the same / AGIRCRENIE Bﬁawmfwaawsﬁm%l
3. the acceleration due to gravity is same for both / T[S@IHYU & HIRUT ARUT G| & oTE THH Bial g |

4. in vacuum the gravitational force acting on both is the same /fFafa d ol IR Il] aﬁmw
CRESEIER GG

Correct Answer :-

 the acceleration due to gravity is same for both / {Lb(dIObBTUI P HRUT 0] ﬁ%ﬁmwaﬁm%l

21) A train 300 m long moves with speed of 36 km/h. The time taken to cross a bridge of 0.7 km
is i

TS 300 Hiex ddt ISt 36 fhwi/der t ara 3 et 81 39 gR1 0.7 5 & ve ga &1 R
CaER:| BT THT TR

1.100 s /100 9hS
2.755s/75 b
3.150 s/ 150 TbS

4.50s/50 b

Correct Answer :-

« 100s/100 9P

22) What should be the position of the object when a concave mirror is used as a shaving mirror? /
WS 3aqd gUuT o1 AT gdor & Fu § Iuah fpar wirar 8, @) avg @1 fRufa w7 g+ anfre?
1. Between the focus and the center of curvature / Wi 3R Il hg & &

2. Between the pole and the focus / §d 3R HIHg & §d

3. At the focus / Hieg R

4. Beyond the center of curvature / dshdl &g I 3MmI

Correct Answer :-

» Between the pole and the focus / §d eﬁwﬂw%aﬂa

23) What is the SI unit of current? /
YRT B SI THTS T 82
1. Coulomb / W
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2. Ampere / UFARR

3. Joule / [l
4. Volt / dlee

Correct Answer :-

« Ampere / AR

24) What is the dimensional formula of electric flux? /
dggd aifirare &1 e g w82

1. MU3T3 A

2. ML2T2A L

3. M 13130

4. M L2121

Correct Answer :-

o MU3T3AT

25) Displacement—time graph for a body cannot be .
e e & forg fauTo=-ww g o To S gD g
1. parallel to displacement axis / faRITT 3181 o TR

2. parallel to the time axis / PTd-31&f o JHIIR

3. a curve with a negative slope / BUNNHD clcl qfed U ah

4. a curve with a positive slope / YdTHD Glcl Ifed U ah

Correct Answer :-

o parallel to displacement axis / =IO 318f o THIOR

26) Two particles executing simple harmonic motions with the same period along the same line cross
each other at the mean position in opposite directions. Their phase difference is: /

T 3ATa T fopaTi=ad B ¥ G BT, U IWT &A1Y U ATad IR TP ga¥ di [auid
fe=mait o wreaw fRUFT W F1ed &1 37T FaAiaR 8:

1.0

21'[

3T
o
3.
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ko | &

Correct Answer :-

27) If the depth of the water tank appears to be 10 m, then its actual depth would be: /
afe oI & o1 MRS 107, Ui Bl 8, O ISP IRafd® TS ahilt:

1. 1330 m /1330 HI.

2.13.3m/ 1339,

3. 1.33m/ 1.33H.

4.133m/ 133 #I.

Correct Answer :-
e 133m/133H.

28) If 1 joule of work is done to move a charge of 1 coulomb from one point to another, then the
potential difference across those points is .

gfe 1 Fard 1A &Y U fig I g fig WA oM & 1 5[ & fova oman 8, ot 34 fagsi & ot
&1 fava 3 2l

1.1 hertz/ 1 8¢9
2.1tes|a/1éﬂFIT
3.1 ampere / 1 TARR
4.1 volt / 1 dlee

Correct Answer :-

« 1volt/1dle

29) If earth were to shrink to one-fourth of its present radius, then the length of the day would be
i

afe gedft, eroeit adar e & ve-auTs 9% S g, ai fed Y srafl il

1. 3 hour /3 ©el

— hour /
3
2. ey

b2 | i

gcollegedunlag
,,,,,,,,,



2
— hour /

L2 | k2

l11n::urf'l‘€i?_’.'l'
3 3

Correct Answer :-

|
=g
=]
=]
L1
s
[ S

30) Images formed by total internal reflection are much brighter than those formed by mirrors and
lenses because .

?@ﬂmmaﬁuﬁﬁaaﬁmﬁ,wmwﬂqmaﬁmmmﬁﬁ
X211

1. there is no loss in intensity / 5'1d9‘\l SIEGIEE] Ob\l‘-:: quﬁr ék“ll %

2. they are diminished in size / 3 3HR T gIRId I §
3. they are always real / 3 ¥q Irdfd® G %
4. they are always virtual / J T STHRT BId §

Correct Answer :-

o there is no loss in intensity / =S CAKIER] e Ob\lgm:lﬁ 6;|(_‘|| %

31) The percentage errors in the measurement of mass and speed of a body are 3% and 4%,
respectively. The percentage error in the estimation of the kinetic energy of the body is i

TS (o1 & S| T 91 & W19 | ufasra 3fedt, wast: 3% MR 4% g1 Fom & nfew et
& THa- | uiazra Fie gl

1. 12%
2. 7%
3. 48%

4. 11%

Correct Answer :-

32) The torque transmitted by an engine to maintain a rotor at a uniform angular speed of 100 rad /s
is 180 Nm. The power of the engine is i

Qcollegedunlag
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TSP YUics (J1ex) B! 100 AST/TA $I THIHE SV I1d W §91¢ 3@ & T S99 gR1 Jamika
a7, 180 Nm B | S5 B &HdT gl

1.1.8W/184dic
2.18 W/ 18dlc
3. 18000 kW / 18000 farall afe

4. 18 kW / 18 fpai are

Correct Answer :-

. 18kW /18 et ale

33) There is a frill of 40 bulbs connected in series. When one bulb gets fused, the remaining 39 bulbs
are joined in series and connected to same supply. Will the illumination decrease or increase in room?
/

TSP TR H 40 909 TP §TT W S U S | 9 U dod TIferd gt o1 &, al AW 39 Fod, e o
wﬁaaﬁ%&ﬁ?wﬁaﬂqﬁfﬁ@%lwa?mﬁﬁﬁﬁmﬁo

1. No change in illumination / UhIR[ o ﬁg trﬁa?h :|_E>p[ @TIT
2. Decrease only / Had HH!

3. Increase only / PHad Q'@

4. May increase or decrease / Q@ g7 W E:Pf W %

Correct Answer :-

« Increase only / PHad Q'@

34) In along distance race, an athlete took five rounds of the track of length 200 m. If the starting
and finishing line were the same, then what would be the total distance covered by the athlete? /

<t gt 31 fs ¥, TP Tyetle 7 200 i <l g aTer T ¢ & Ui By ae | A SRfHS qur
Sifow Y@Te FaT Y, | yeie gRT a9 @1 T o g a1 gnie

.0m/0 #
2.200 m /200 |
3.40 m /40 H

4. 1000 m / 1000 H

Correct Answer :-

« 1000 m/ 1000 Ht

35) Anywhere in the universe for a given body, remains constant. /

it oft Hispg P & fore seris & w8 O, fRR a3
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1. weight / dgHd
2. volume / 3TId4
3. density / YUdcd

4. mass / SqHIH

Correct Answer :-

e mass/ GIHH

36) A ball is thrown up with a velocity of 15 ms™1 from the top of a building of height 20m from
the ground level. The time taken by the ball to reach the ground is (takeg = 10 ms'z): /

TP ¢ Bl 15 ms™ & AT A YA 96 A 20m St ARG & AR A SR # 3R b1 S1an 21
Yfty 9% Uge & T afer gRT foran ar 9w 8 (g = 10 ms2 @ &iford):

1.35s
2.6.0s
3.45s

4,40s

Correct Answer :-
e« 40s

37) A balloon is rising with a velocity of 10 m/s. When it is at a height of 40 m above the earth, a
packet is dropped from it. By what time it will take to reach the ground? /

TS TERT 10 T/ & 37 P 1Y IS 8712 | 99 Tg gt A 40 Fiex o1 SHag W elare, al sa9
TS e FTRTT SITaT 8 1 Bde &) wIHi= ao ugeq | fba=n waa aeme?

1.10s/10 s
2.55/5qbe
3.45/49hs
4.25/29b8

Correct Answer :-

. 45/49FS

38) The gravitational force between the earth and a body is equal to the ./
gt 3R & reTa & fie g ad & R T3

1. weight of the body / T & doiH

2. mass of the body / e & gooaE

gcollegedunlag
,,,,,,,,,



3. pressure on the body / Ao R e

4. density of the body / e & 99a

Correct Answer :-

» weight of the body / e & aoH

39) The inner surface of a polished metal spoon behaves as a ./
TS UITeI=T YT T P S e TP Pt e P Bl B
1. concave mirror / 3aAd gUUT

2. convex lens / I&d o=

3. convex mirror / 3T GUUI

4. plane mirror / JHAT gqur

Correct Answer :-

e concave mirror / 3{ddd a'chT

40) The minute hand of a clock is 3.5 cm long. The distance covered and displacement by its tip
from 6 A.M. to 6.30 A.M. will be respectively: /

% TSl # fire o1 g8 3.5 ) <l 31 UTe: 6 a9 | Id: 6.30 T9 9P B! AP GRT 99 B TS
it SR faiTa= s gl

1. 1lcm, 0 cm/ 11@'@[,0@'5?[
2. 11em,7 cm / 1197 I
3.7 cm, 1lem /7 99, 115!
4, 7cm, 0 cm/ﬂﬁ":ﬁ, O@jﬂ

Correct Answer :-

e llecm,7 cm/ 11%,7%

41) The SI unit of pressure is: /
old 1 SI sﬂv'li %:

1. Nm!

2. Nm?

3. Nm™?

4. Nm

Correct Answer :-

Qcollegedunlag
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42) To obtain the SI unit of gravitational constant, which one of the following equations can be
used: /

Wﬁ%ﬂiﬁﬂﬁmwﬁ‘ﬁmmﬁ%ﬁmﬁaﬁﬁﬁwﬂmﬁﬁﬁmwwm
Sl bl &:

1. G=mq; my/ Fd?
2. G= Fdz/ myq m,
3. G=d®> my m, /F
4. G=F/ m; m, d?
Correct Answer :-

o G= Fdz/ m1 my

43) If electron, a particle, proton and neutron have the same kinetic energy, then the particle
which has the shortest wavelength is: /

gﬁﬁ,ag,m@%ﬁmwﬁmﬂ%maﬁw,mmmm
, Bl

1. Neutron / IEA}I':T

2. o Particle / o b UT

3. Proton / TICI
4. Electron / 3@3@&[

Correct Answer :-

e o Particle / o PUT

44) If a ball thrown vertically upwards reached a height of 80 m and came back to the thrower
in 8 s, then which of the following statement is true? /

Tfe TF Tig B FHHEtR T H FWR B 3R BT oI1aT 3 d) 98 80 Hiex &1 HuTg d% Ugd & 9T,
g Hpq aTd & UTH 8 AP A aT9H 3T ST} 8, 59 YW A 370 A S IT FYT a2

1. The net displacement of the ball is zero / g &1 R fawimgs, A gl
2. The distance travelled is 0 m / TG &1 Tlg @, 0 Hiex %I

3. The net displacement is 160 m / G faRITIT 160 HIeR & |
4. The distance travelled is 60 m / a’qﬁﬁ@ 60 HIe %I

Correct Answer :-

gcollegedunlag
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« The net displacement of the ball is zero / TG &I R fawimg, A Bl

45) 200g of ethyl alcohol at 28°C is heated and boiled off completely. The quantity of heat
used up in this process is:

(take B.P. = 78°C; Specific Heat =2.5 kJ kg ! K'1; L.H. of Evaporation = 850 kJ kg'1) /

28°C UR 3UT3d UehIgid & 200 UTo i QUi U & dwd T4 Hiyd fbar w1 39 uftbar ¥ uga
SHI P AETS :

(PP = 78°C; fAfRIP SeAT= 2.5 kI kg K~1; AT 1 & HTAT = 850 kI kg™1)
1.25kJ

2. 195 kJ

3.170 kJ

4.19.5kJ

Correct Answer :-
« 195 kJ

46) Which lens acts as a magnifying glass? /
DI A1 A9 IMadE d9 FI A S Bl 32
1. Convex / 3«dd

2. Concave—Convex / 3ddc-3J«dcd

3. Concave / AHddd

4, Convex—Concave / 3cdd—3Addd

Correct Answer :-
e Convex/ 3«ld

47) Which one of the following statements is FALSE about Thermos flask? /
Frafafaa & @ &9 W1 $YF ¥ e & IR § W 82

1. Using rubber/cork as stopper prevents convection with outside air. /W@%ﬁwaﬂw
TiRd Yagd &1 A & T T ST ) ae v fpar s |

2. Heat loss/gain by the contents of the flask is minimized by almost completely filling it. / Hclh
& AR & GRT S AT ATH/ETH, $H TIHT GRT WRHR FAaH fohal Srar g |

3. The body of the flask is made of double-walled glass to prevent conduction./ Wﬁﬁﬁ?ﬁ,
1A DI A & fordl fg i 7o 4 o+ gt 81
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4. The space between the two walls of the flask is evacuated to prevent radiation. / TR Bl Gl

AaRI & ot &) oiiTg, fafeRur o1 Ap & o @relt B et 21

Correct Answer :-

» The space between the two walls of the flask is evacuated to prevent radiation. | GAIR® D1 &l

IR & o B o1, fafos=ur 1 Al & ford et 1 oirell 3 1

48) Which of the following is an example of non-ohmic device at lower temperature? /
fFrafafad # & @19 A9 auaE w® eq-3H (A7 siiftre) fearsd o1 T e 82

1. Junction diode / SIaRM SIS

2. Copper wire / GIEEAIGIR

3. Tungsten wire / STRE 1 dR

4. Carbon resistor / BTa UfaRIUH

Correct Answer :-

« Junction diode / SaRIF SIS

49) A ray of light passes from air to glass (p= 1.5) at an angle of incidence 30°. The angle of
refraction is ./

uma%w%{ur 30° & ST DIV IR FAT A BT (u= 1.5) T 1P ToRdl 3 | ST HI0T
|

1. 12.23°
2.10.51°
3.19.47°

4, 15°

Correct Answer :-

50) If the focal lengths of the objective and eyepiece of a telescope are 1.5 mand 5 cm
respectively, then its magnifying power in normal adjustment is: /

e U R & AREwa® 3R ANST B Bt puwr: 1.5 Wiew 3R 5 Jf &, Sy Suh
THTHTRI AT S § Mae &rar gif:

1. 30
2.750

3.85
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4. 155

Correct Answer :-

« 30

Topic:- Chemistry

1) The type of amines which react with aldehydes to form Schiff's base is

-/

S UhR $ 3T, S RIp-&R 791 & R tfsess! & ary afifpar s §,
Fead gl

1. quaternary amine / IqY 3{HTE

2. tertiary amine / Jaiddh AT

3. primary amine / TTYH® A

4, secondary amine / fedia® srameA

Correct Answer :-

 primary amine / UTIfAe 3fATS

2) Which of the following complex is chiral? /

fFrafafad & 9 o179 91 Iy, eI g2

mer-[Co(NOz)3dien)]
cis-[RhClz(NHz)s] +
fac-[Co(NO2)s(dien)]
[Cr(ox)s] *

Correct Answer :-

3) Proteins are made up of: /ﬁﬁqmﬁwm%
1. Phosphoric acid group | BITDIRE ST g



2. Amino acids / 3fHIT 3%

3. Carbon & hydrogen / e U4 BISSIoMH

4. Ribose sugar / SIS RSRIES

Correct Answer :-

e Amino acids / A 3T

4) In upper atmosphere, ozone protect us from: /

S aTgHsd |, 3T gHRT 3 JR&T Hdl o
1. Infra red radiation / 3{a<ad fafdvor @Wi@i‘%@‘l}
2. Peroxy acetyl nitrate /me

3. Carbon dioxide / BTa 6I$31Td{-llss

4. Ultra violet radiation / TRTSTTT fafdRuor (&IR\THVW@? NEUNEY!

Correct Answer :-

. Ultra violet radiation / TRTST fafahuT (3feeT aiaeie AfSaem)

5) Water containing excess of calcium and magnesium ions is classified as ./

Fferraw iR ARy sl $t siftrear S gad urt &t & =0 H Fifpa
fFarmar gl

1. pure water / [& STl
2. hard water/av_o'ﬁTGlFT
3. impure water / 31[& STd

4. soft water / {¢g oIcl

Correct Answer :-

« hard water/av_cﬁT\_rlFf

6) During smelting, an additional substance is added which reacts with impurities of metal to
form a fusible mass. The substance is ./

WIEH & SR, T Sifafvead werd sra wimdr 8, st Siasiig wefa (wgfRea ) a1
frmafor w37 & fere urg &Y srrfeal & Ty srfiferar war 81 ag uerd gl

1. slag / YTJHT (X<1)
2. flux / fa9T (FeTer)
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3. gangue / ST
4. mud /ﬁﬂg

Correct Answer :-

. flux/ fasT (TR

7) Identify the compound that has a triple covalent bond. /

39 9iffTe & ugar o ford gt wesidivie ey gt 6:
1. Ammonia / I

2. Ethane /Eﬂq

3. Ethyne /Q?ﬂ:f

[of [of \J
4. Carbon dioxide / PId- SIS-HHRSS

Correct Answer :-

« Ethyne /Qzﬂ:f

8) Identify the reaction in which two compounds react by an exchange of ions to form new
compounds. /

ag sifufsrar ugnfaa, o/ @) Aiftre, 73 Fiftre & fAmtor & o s & fafa gRy
Sfyfspar w3 g1

1. Decomposition reaction / HUdcH 3iffosar

2. Combination reaction / TaeI 3(f¥fehar

3. Double displacement reaction /%ﬁ?—ﬂtﬂ 3ffufepar
4. Displacement reaction / fayToT sifuferar

Correct Answer :-

« Double displacement reaction / fg fa=ua= 3rftfesar

9) The strength of ionic bond is more when the bond is formed between: /

SMIP Y B} drepd UfUP gl & 9 §Y9 9P o g1 8:
1. two non-metallic elements /aﬁ?’—ﬂlﬁa@%@a
2. two elements of comparable electro negativity / WWW%E&H@%W

3. two highly electropositive atoms / &l 3% f&qu YATHD W\ﬂ’f%aﬁﬂ
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4. highly electropositive and highly electronegative elements / 3T ﬁqu YTHD 3R I
FuIfdgad ddl & ol

Correct Answer :-

« highly electropositive and highly electronegative elements / 3T f&qu YaTHD 3'ﬁ? Jd
FuIfdgad ddl & ol

10) Which one of the following statements is CORRECT for bases? /

fPrufifEa § & S99 59 &R @) & Rva § ad 22
1. Bitter and change blue litmus to red. /WW%@%W@ NINEUR:] dad %?ﬂ%l
2. Bitter and change red litmus to blue. /Wméwwmﬁ:ﬂﬁwffww%l

3. Sour and change blue litmus to red. /@@W%E:ﬂamﬁ?ﬂﬁwf{aﬁwgl

4. Sour and change red litmus to blue. / Q&I s\ldl %Q_d AT foler g ﬁ#ﬁrwﬁwﬁ‘m%l

Correct Answer :-

« Bitter and change red litmus to blue. /mm%wmmﬁﬂﬁwﬁwwél

11) Which of the following metal chloride is light sensitive? /
fraferfad d @ @19 971 U1 RS S, TS JaeTgid 82
1. Cu
2. Mg
3.Zn

4. Ag

Correct Answer :-

12) The process of purifying metals by electrolysis is called .

3T JAUHCH (AT IATS RNT) GRT TGS PTRMUA FA BT URBAT__ Fgamdi gl
1. EIectroreﬁning/ﬁwq&W@@mﬁm

N\ e

2. Electroplating / [dgad AU (SdacIifdm)

3. Electrometallurgy / IEQEI(‘I W(ééaélﬂala”lﬁh
4, Electrodeposition / Q@I?Ejlg Ry (SAFITSUINT)
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Correct Answer :-

. EIectroreﬁning/ﬁQ’qﬁqﬁ'@l’T\"UT(gaa@hmﬁﬁu)

13) Osmosis is a special kind of diffusion. Which of the following statements is true about
osmosis:

(i) Swelling of dried apricots on keeping in water.
(ii) Spraying of perfume.
(iii) Preserving fruits in sugar syrup.

(iv) Use of oxygen dissolved in water by aquatic animals./

grmwﬁﬁwmmﬁwwélﬁgﬁ-ﬁq’aﬁﬁﬁqW$mW%aﬁﬁwﬁ

() T H I R G G BT HaT|

(i) 37 1 fosHAI

(iii) TR | Bl BT IETI

(iv) TAa-sigaii gRT oTa | faafa sifwfter &1 wah|
1. Statements (i) and (iii) / (i) ¥d (iii)

2. Statements (i) and (iv) / (i) Td (iv)

3. Statements (ii) and (iv) / (ii) Td (iv)

4. Statements (ii) and (iii) / (ii) Td (i)

Correct Answer :-

. Statements (i) and (iii) / (i) T4 (iii)

14) Suggest a suitable separation technique to separate a mixture of sodium chloride and
naphthalene. /

TQfETH FAR1SS 3R ABYA F Y01 ) yuapd 1 & e ver 3faa guas o
GEEICAAR G KA

1. Sublimation / 3 &IUTdT
2. Crystallisation / foh el

3. Condensation / g
4. Evaporation / CINYICR

Correct Answer :-
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« Sublimation / 3>&dTdq

15) Who coined the term ‘atom’? /
YR XTeg BT Ufaure- fora= farar?
1. Katyayan / [T

2. Democritus / @Tnm

3. Socrates / JPd
4. Galelio / TTefiferal

Correct Answer :-

« Democritus / én’llaaa\a

16) A mixture of common salt and sulphur can be separated by 2/

TTYRYT 9 3R b & Ay o1 R 3T fohaT &1 gbdr g

1. Magnetic separation / Ej,dd;\lq PSR
2. Dissolution method / fage fafyr

3. Sublimation / JEUTA (T&ITHRM)
4. Froth floatation /WW

Correct Answer :-

« Dissolution method / fage fafd

17) Smoke is a mixture of ./
g3, &1 o 3|

1. liquid and solid / %d 3R 3

2. liquid and gas / <9 AR TG

3. gases onIy/Ww

4. solid and gas /‘cﬂﬂ 3R Y

Correct Answer :-

« solid and gas / 319 3R Y

18) Which of the following compounds possess the highest molecular mass? /
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Fruafafaa # | g aiffre d S=an simufae goaH gl 82

1. NaCl
5 NHz
CzHa
CH=0H
4,

Correct Answer :-

19) Which of the following is not a pure substance? /

fFrafafaa & 9 19 a1 te 35 verd gt 82
1. Silver / Tl

2. Soil / Fal

3. Iron / TIgT

4. Water / JTi1

Correct Answer :-

20) Which of the following contains the lowest number of molecules? /
Frafafaa o 3 feaw smpeil @) Ten gad FH gkl 82
, lgC/1amC

, 1gN, / 13T N,

3. 1gCa0 / 13m Ca0

1gH, / 13T H,
4.

Correct Answer :-

1gCaO / 19T CaO

21) Which of the following is a heterogeneous mixture? /
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fFrafafaa & @ o a1 ve faediy Ay 82
1. Blood / ¥dd

2. Sugar in water / U= & A1

3. Sea water / GHgI STcl

4. Sulphur in carbon disulphide / CARE SIERSRIES H Iem

Correct Answer :-

o Blood /¥dd

22) Which characteristic is different for the neutral atoms of the two isotopes of an element?
/

TS dd & &l JURITAD! & I uRuTve & ford o= ot fagwar i 32

1. Number of electrons / saq«;ﬁlaﬂ ]

2. Number of protons /uﬁ?ﬁﬁm
3. Number of neutrons /?Kll:ﬁﬁm
4. Atomic number / TRHTU-ShHIH

Correct Answer :-

« Number of neutrons / f‘;LQT"I\Iﬁ epes)

23) Which one of the following suspensions is widely used for diagnostic X rays? /

A e TeaX ¥ fore il § @ @19 A Freea (@=UTE) $1 U 0 A STaRT
fopar SITar 82

1. Magnesium sulphate / Ry gethe
2. Barium sulphate / IRgH gethe

3. Copper sulphate / PR The
4, Calcium sulphate / HfeRgH gebe

Correct Answer :-

 Barium sulphate / SRkgH gethe

24) Which one of the following statements is not correct according to Dalton’s atomic
theory? /

STee & WA Rigia & ouR, Fafiafad 4 | 19 91 37 9a@ T8l 82
7 o Qcollegeduniag



1. Atom is indestructible / UXHIU] 3ffa-r=it %l

2. Atom is the smallest particle that takes part in a chemical reaction / EEH® ST H YA
T aTel o Bl &0 IRATY g

3. Atoms of all substances are identical in all respects / Tt Wﬁ% UHIT] gut T ° 99H
g gl

4, Matter is made up of atoms / tl?(T?‘f tITJ:lTUJ,Gﬁ e fﬂ?f %I

Correct Answer :-

+ Atoms of all substances are identical in all respects / it merif & UHIT gt ar | 99
g 8|

25) 99% of the matter in the entire universeis______ :/
Ul TS # 99 % S, 2l

1. Solid / 31

2. Liquid / &«d

3. Plasma / WITGH]
4. Gas / ﬁﬂ

Correct Answer :-

o Plasma / WITGHT

26) What is the molar mass of ozone? /

STSTIT BT SU]-HTR FIT §IaT 32

1 16 g mol—?
48 -1
5 g mo
24 g mol™?
3.
32 g mol™?
4 g

Correct Answer :-

gcollegeduniag



The number of electrons in an element M is 17 and number of neutrons is 18. Which of the
following is the correct representation of the element? / ¥ ded M | EﬁﬁﬂFﬁ P IS 17
qYUT eIl B " 18 B | Fafefad # d «14, 9@ &1 98 ufafafia 22

M
1. 18

28) The number of electrons in CI ion is: /
CI" 3Tl § gaAag i+l t IS §:

1.17

2. 12

3. 16

4. 18

Correct Answer :-

29) The electron in the Bohr's model of atom is visualised as revolving around the nucleus in
specific orbits in order to ./

TR & WU disd § gadei, & w4 U fafkry wensii o s & ari 3R
IR HT H1 & FU A Hfud g

1. possess energy / Foll TR Heall B

2. emit light / USTRT ITfld A

3. keep it nearest to the nucleus/Wﬁ-@% R3PS "I\ﬂt‘:\ldn G-
4, keep it from being pulled into the nucIeus/W% 3 @aﬁﬁﬁwwﬁ

Correct Answer :-

+ keep it from being pulled into the nucIeus/W% 3 @%Gﬁﬁﬁ’\"f\&lﬁ?@%{
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30) The atomic number of four elements P, Q, R & S is 3, 7, 18, and 10 respectively. The
element which can exhibit electrovalency as well as covalency is: /

R ddl P, Q,R@S%mmm 3,7,18 T4 10 31 98 dd il fb agaa
TR B YT Tewarear 1 TeRia o3 o 2

1.P
2.Q
3.8
4.R

Correct Answer :-

« P

31) The solution in water that shows Tyndall effect is: /

oieT # 9% faera it fesa yura yeRfa sxar g:
1. Vinegar/ﬁlw

2. Copper sulphate solution / HIR ethe faaa-

3. Detergent solution | f&esic 1O

4. Salt solution / TG0 BT UId

Correct Answer :-

» Detergent solution / fgcuic &1 Ol

32) The emission of an a-particle causes the resulting nucleus to have .

0-BUT F IS &b HROT gRomH A1fie &

1. less atomic number / & TRHTY] HHIH ST g |

2. higher atomic number and atomic weight / SR UHTY] SHHI% TS UATY] YR ST ]
3. less atomic number and atomic weight / H UIHIT] HHID Q_d UHT] YR E?IFH %I

4. higher atomic weight / SR URHTY] YR Bl & |

Correct Answer :-

* less atomic number and atomic weight / ®H UIHIT] HHID QH URH] YR Bﬁ?ﬂ %I

33) The property by virtue of which the molecules can flow is called .

Qcollegedunla
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98 UI-4H, ForA®1 9o1g | (U] YdTg FY A 5, 8¢ Pperwmarg|
1. Isotropy / RSBl (&ns@'g"@)

2. Density / 9-cd

3. Fluidity / dxdIdl

4, Viscosity / YAl

Correct Answer :-

o Fluidity / dXcIdl

34) Identify the element which cannot form an octet during bond formation. /

39 dcd B UgaTi= o et fAwfor & GR1 3ree (e e) ) 991 Ihar g
1. Fluorine /tlﬁ\’rhﬂ:f

2. Neon / EEIG]

3. Hydrogen / Gléglﬁ:l
4. Sodium / IIfSTH

Correct Answer :-

» Hydrogen / Slsglﬁlq

35) Rate of evaporation decreases with : /

JTUFBRUT B &3 (HTY &%) Y &A1Y HH 8 Sl 8
1. Increase in humidity / ST & Q@

2. Increase in temperature / dTUHIT | Q@

3. Increase of surface area / EFESDP:[ &AHA D q@

4, Decrease in humidity / 3fTear § HHT

Correct Answer :-

« Increase in humidity / Hlﬁfﬂ | Q@

36) How many electrons can be accommodated in the fourth orbit of an atom? /
TP RUTY] 1 91ft Hem o fhaq saaer= qamEifod f6d o a@d 82
1. 32

2.8
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3.16
4. 64

Correct Answer :-

e 32

37) Drugs from blood can be separated by ./

SRR I 3Ny &1 & GRT YYS forar oIt gear g
1. Sublimation /3?a£l?ﬂ?‘|:[

2. Filtration / FEH ((theerM)

3. Chromatography / guiciiRaspt (ﬁﬁm

4, Distillation / 3{THdA

Correct Answer :-

« Chromatography / Uit (ﬁﬁm

38) Calculate the mass of one atom of copper (atomic mass of Cu = 63.5). /

did & TP URHTY] & SoqHTH B TUMFT B¢ | (did BT URHTY SHH = 63.5)
, 1054107

, 1054x107%g

5 52.77x 10-%%g
4 527x107%g

Correct Answer :-
. 1054 x 10-2% g

39) Gases are more compressible as compared to liquids because of 2/
A4, 59 ) goT § ot Tftsa 1 €, Rraet sRur gar el
1. Low density / 3fcU Y-dcd

2. Strong molecular interaction / Y&¢l 31foge TRER foan

3. Fixed volume / F1Td 3{TTdH

4. Large intermolecular spaces / §8¢ 3R1-3HU[dh T (wﬁmﬁw )

Qcollegedunlag
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Correct Answer :-

« Large intermolecular spaces / §8¢ 3cR[-3{U[h R (Q'H\r? ‘{;CQJ-ITﬂnIdlj\ﬂQ @ﬂ)

40) Brass is a homogeneous mixture obtained by mixing_______ :/

Naa s gurda fAgua o &) faifda & ura fear sman 21
1. a solid and a liquid / T 319 3R T ga

2. two liquids / gl gdl

3. two solids / &l B[

4, a gas andaliquid/@ﬁg 3R TH &a

Correct Answer :-

o two solids /E(Pfaﬁ

41) The respective SI unit of pressure, volume and density are: /

<9Td, 3T UG U-cd B SI SPTs HHIT: §:

1. Bar, cubic centimetre, calorie / dIX, Y ﬁfﬂjﬂ—d{, FAR!

2. Bar, cubic metre, gram per cubic centimetre / §IX, Y Iﬂﬂ, ITH Ufd g9 IéHie

3. Pascal, cubic metre, kilogram per Kelvin / Ul¥chcl, Y- Iﬂa, e ufd Hfead

4, Pascal, cubic metre, kilogram per cubic metre / Uk ¢l, Y- IﬂET, fam ufd g9 Jiex

Correct Answer :-

« Pascal, cubic metre, kilogram per cubic metre / YTk ¢l, Y 1:“3?, framm ufd g9 Hiex

42) The atomic number of an element X is 15. The number of electrons in its ion X ~*will be : /
ferell e X &l WA §&AT 1581 58F 3™ X # Selaclal & adr gl

1. 16

2.18

3. 15

4. 14

Correct Answer :-

« 18
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43)
ElementY forms an oxide with the formula Y20z, which is a solid with the high melting point. Y
would most likely to be in the same group of the periodic table as: /

dcd Y, A Y20: & A U HGASS S1dT ¢, Alleh 3o el & A 319 gl AT
I fe T aca & @AW 81 3ad RO & WA THp H AHGd: Y H TR G

1.C
2. Li
3. Be

4.B

Correct Answer :-

44)  What is the ITUPAC name of the given compound? /

H=r few v IifFe T weAc A F4T B2
]

1. 3-Cyclobutylbut-2-enal / 3-HT3dIGCISAHC-2 — T

2. 3-Cyclobutane-2-butenal / 3-9’[5’@@[3:[ -2- aﬁﬂﬂ

3. 2-Cyclobutane-3-butenal / 2-4I< ol ®<1|\<\i -1-3-@4\3—1 N

4. 2-Cyclobutylbut-3-enal / 2-HT3daIICTZ TG C-3- T

Correct Answer :-

« 3-Cyclobutylbut-2-enal / 3-HTSaiIgCTgdIIC-2 — Td

45) Hydration of in presence of Hg?™ salt and 40% acid gives propanone. /

Hg2*oaur 3R 40% 31 &7 3ufeufa # &l Serdlelel Uilede &aT B
1. ethane /Q?):r
2. propyne /‘;n'CI'I_SFT

3. ethyne / TYIg-
4. propene / AdE



Correct Answer :-

e propyne /ﬁl'CI'I_SFT

46) The number of moles of oxvgen in 1 mole of NazC03.10 H20 is: /

Na:C0:.10H:0%F 1 #i & 3aded & Aled T T&7 b

1. 10 moles / 10 AT
2. 1 mole / 1 AT
3. 13 moles / 13 HIed
4.3 moles / 3 ey

Correct Answer :-

e 13 moles/ 13 o

47)  Which one of the following statements is correct for the reaction: 2X +VY = X, Y7 /

afataa § & ia a1 &a+, 2x+v - X, ¥ 3@8EFars @ @ 2

X2Y shows the properties of substances X and Y. /
X2Y, ueneif X TdY & IO &1 geiar g

1.
X2Y so formed cannot be classified as a compound. /
X;Y 59 vaR AT gia § & e diffe & w1 F goflea a8 &9 ar a=al
2.
X2Y will always have a fixed composition. [
XY & §HeT Us Hiead waar gt
3.
X2Y so formed is an element. [
X:Y U ded o AT g1 §
4.

Correct Answer :-

X2Y will always have a fixed composition. [

XoY & g&er ve Afeua a=ar gef



0.184 g of an organic compound when heated in a Carius tube and subsequent ignition vielded

0.222 g of Mg2P207. What is the percentage of phosphorus in the organic compound? /

U wEfAE Al & 0.184 AH H A9 T HRIW egd & 7 fHAT I A Fodere
& IWTed Mg2P207 T 0.222 AH UIed §31T| Fifeder Al & GRORT i gfcrerdar
T {7

1. % of P =23.15 / P &1 % = 23.15

2.%of P=11.57 /P&l %= 11.57

3. % of P=33.69 / P I % = 33.69

4.% of P=16.85/P Pl % =16.85

Correct Answer :-

« % of P=33.69/P Pl % =33.69

49)  Number of moles of ozone presentin 144 gof 0,15 ./
0.% 144 am & #Alg 30oa & A dr dEr _ §

1.2

2.3

3.1

4.6

Correct Answer :-

50)

The Van't Hoff factor for 0.1 molal Ba{ NO3): solution is 2.74. The degree of dissociation is ik
0.1 Hieled Ba( NOx): faergar s foiv d¢ g thaex, 2.74 21 fagierer &1 B 2l

1. 87%
2. 100%
3.91.3%

4. 74%

Correct Answer :-

e 87%
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Topic:- Maths

1) The roots of the quadratic equation 6x2 - 13x — 5 = 0 are: / fgaTd THIHUT 6x2 - 13x —
5=0%4de:

i 5
372
. 53
1 3
6 2
2.
7 2
, 373
L
2
4,

Correct Answer :-

|
"33

2) The difference of the circumference and the radius of a circle is 74cm. Find its

circumference. / T g 31 Ui Td Feur &1 siar 74 At 31 39! ulkf gma +¥1
1. 88cm / 88 AT

2. 122cm/ 122 91

3. 107cm / 107 94T

4. 94¢m / 94 WY

Correct Answer :-

o 88cm /88 W

3) The zeroes of the quadratic polynomial 2x2 — 3x — 2are / fguTd 9gUg 2x2 - 3x - 2%
TADE :

e
&

B3|
u

ol | =
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4) If 4 carpenters or their 6 helpers earn Rs. 3600 in a day. Then, how much will one
carpenter and his helper will earn in a day? / Tfe 4 9g3 3IYaT I9F 6 SIS UfafeT 3600
IUY HHTA 8| A JTd B [ T g8 3 IUPT U Jeras ufafe ford=m sane?

1. 1500 rupees / 1500 SGT
2. 900 rupees / 900 ¥UY
3. 600 rupees / 600 T

4. 1800 rupees / 1800 TTT

Correct Answer :-

« 1500 rupees / 1500 ¥U

5) The perimeters of the circular bases of a frustum are 28™ cm and 12 ™ cm respectively.
If its slant height is 10cm, then the total surface area of the frustum is: / Td foap &

JATPR TR & TRATT HUR: 287 T 3R 127 Tt §1 afe 39! forSt Sorg 10 A @,
foa® &1 $a TSI &wd ghm:

1.330™ cm? / 330 T Q2
2.528™ cm? / 528 T JH2
3.432™ cm? / 432 T 92
4.200™ cm?2 / 200 T JH2
Correct Answer :-

e 4327 cm? /432 ™ Q2

6) Which of the following is the probability of an event / fafafead == U YT (sﬁ?:) 3|
IR 32

1. 45%
2. 107%

3. 1.75

1
4, °
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Correct Answer :-

o 45%

7) The area of the region bounded by y = 2x — x> and x axis is .

x-31& 3R y= 2x — x2 GRT uRax &7 &1 gl
1. 1squnit/ 1 aﬁwrs‘

gsqunits ! ? aar SISl

2.

gsqunits ! g GEl) SISl
3.

gsqunits J 2 g SISl
4.

Correct Answer :-
4 : 4 =
5 5q units ! - GEIl SRSl

8) The length of the tangent drawn from a point 12cm away from the centre of a circle of radius 6cm is : /

6 I P & U 99 & s 9 12 9 R U g A Wi s v # dearg gt
1. 4\.@1::111 ! 4\."?@#
5. 63 cm / 63 HeT

3 3\.@':111 ! 3'\."3%#

4 Tv2Zem / T4/2 A

Correct Answer :-
ﬁ\."'g cm [ ﬁm"g T

9) If a semicircular plot is attached to a rectangular plot 60m by 42m along its breadth,
then the cost of fencing the combined plot at Rs.30 per metre is: / gfe Uh ar%&ﬁrm'\r 1I’I\T'c.’,
60 W 742 W ¥ FTUATER wWic A B! NS A TST g3 7, df G wWie A 30 $uT ufa ez
Pt R A W (HRIAT) T Bt aF1d ghM:

1. Rs. 6840 /6840 34U
2. Rs. 8100 /8100 94U
3. Rs. 7680/ 7680 %UU
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4. Rs. 5960 / 5960 »UU

Correct Answer :-

« Rs. 6840 /6840 ¥UU

10) In triangle PQR, PS, the bisector of ~QPR divides QR in the ratio 3:2. If PR =6 cm,
then PQ = / Y PQR #H, QPR &1 f§USI® PS, QR &I 3:2 & 3uTd § fauTfora &ar
21 afE PR =6 AHI g, G PQ = gl

1.10 cm / 10 9.
2.9 cm/9 I,
3.8 cm/ 8 TN,
4.4 cm/ 4 9T,

Correct Answer :-

. 9cm/9®1ﬁ.

11) A oBc ™ 2 PQR such that AB = 6cm and PQ = 8cm. Find the ratio of the areas of 2
ABCand 2 PQR. /2 ABC ™~ A PQR3H UPR & f AB = 6 1t vd PQ = 8a g1 £ ABC Ug 4
PQR & &AWl P 3JUTd JTd B |

1.3:4
2.1:4
3.4:9

4.9:16

Correct Answer :-

e 9:16

12) Equation of the plane through the points P(1,-1,2) and Q(2,-2,2) and perpendicular to
the plane 8% — 2y +22=19 g . ] d@ 6% = 2V + 22 =9 & waqd 3 fagait
P(1,-1,2) 3R Q(2,-2,2) & HIHH T dd BT THIHT gl

1. x+y—2z+4=0
) Xty+tz=6
3.24+ty+z=6

4 X +y+2z=4

Correct Answer :-

gcollegedunlag
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x+y—2z+4=10

13) The enrolment of a school during 5 consecutive years was as follows:-

1490, 1840, 2100, 3600, 2520. The mean of the enrolment of the school for this period is:
/

AR Ui 991 & SR P fAened &1 Tmied Fargar om:-

1490, 1840, 2100, 3600, 2520. 33 3(afy F forQ fawTay & ATHIGT &1 ATH &:
1.2310

2. 2140

3. 1980

4. 3220

Correct Answer :-

e 2310

14) Inan A.P if S; = 56 and Sg = 42. Then Ty is /
AR 91 H, afg S7 = 56 3R Sg = 428, A T, &
1. 16

2. 10

3. 14

4.12

Correct Answer :-

. 14

15) 1f Ar(ABC)=64 sq units , in which AD is the median of 24ZC and DE is the median of

AADC, then the area of ar(DEC) is / af¢ Ar(ABC)=64 T 5&TS §, forad Ap, 245C
31 ufee (Hifsa) 8 3R DE, AADC & aftre (Hifsa) 8, @) ar(DEC) &1 &3%d
ghmI

1. 24 sq units / 24 I 3PISTT
2. 8 sq units/ 8 an%Tﬂé'QT

3. 32 sq units / 32 ansle—lg'QT
4. 16 sq units / 16 aﬂfsaﬂ%m

Correct Answer :-

gcollegedunlag
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e 16squnits/ 16 anETﬂg'QT

16) The total surface area of a cuboid is 94cm? and if its lateral surface area is 54cm?,

then its base area is : / T® U9TY $T $d YSIT &6 94 T2 § 3R afe swvet urxd gl
&TEd 54 V12 g, A THBT YR §AF o

1. 20cm? / 20 YHI2
2. 32cm? /32 QU2
3. 26cm? / 26 P2
4. 40cm? / 40 JH2

Correct Answer :-

¢ 20cm? /20 9H12

17) If HCF (20, x) = 4 and LCM (20, x) = 160, then the value of x =? / Uf¢ HgWH YHIUGIH
(20, x) = 4 3R TYTH JHTITH (20, x) = 160 8, df x BT A = g

1.32
2.36
3.24

4,28

Correct Answer :-

e 32

18) If the angle of elevation of a tower from a distance of 30metres from its foot is 45°,

then the height of the tower (in meters) is ___. / Uf¢ T AR &1 39% dd | 30 Hiex &t
T W, IATT D101 45° B, O TAR &1 g (Hex @) B

1. 15

2.30

/

3. iy'3
/

4 3042

Correct Answer :-

gcollegedunlag
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19) If the three points A (—3.2.2), g(2:4,—1),C(12,-2,-7) are collinear, then b = ./
aﬁ?ﬁqﬁgA (_31 b, 2}, B(214.1 _1}1'{:.(121 _21_?}Wﬁ,?ﬁ'b= %l

1.8
2.5
3.7

4.6

Correct Answer :-

20) Which term of A.P. 6, 14, 22 .......... is 166? / THT=R I¢1 6, 14, 22 ........... P B ATUS
166 8?2

, 19%tem 157 75
215 term / 217 9
24t term [ 247 9g
20 term [ 20% 9%

Correct Answer :-
215t term / 217 ug

21) ABCD is a square and E and F are the midpoints of AD and BC respectively. The

diagonal BD intersects EF at 'O'. If AB = 12cm, then the area ADOE : area 2DBA
= . / ABCD T® aif § TdT E 3R F HUR: YT AD 9T BC & Heafag §| fawol BD, EF

FI “0” R ufadfed Hxar g1 afe AB = 12 A g, @ 2DOE &1 &% d: LDBA &1 &T6d =
BImI

1.3:5
2.1:4
3.1:2

4.2:3

Correct Answer :-

Qcollegedunlag
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22) The area of the base of a cylinder is 38.5cm? and if its height is 12cm, then the

volume of the cylinder is . | TP 9o & ATYR HT &A% 38.5 GH12 g1 afe st
FOE 12 W 8, T9 ITI BT MG _____ BRI

1. 642 cm3 / 642 T3
2. 462 cm3 / 462 T3
3. 510 cm3 / 510 I3

4, 566cm?3 / 566 TH3

Correct Answer :-

e 462 cm3 / 462 9HI3

23) A rectangular hall of 25m 20cm long and 15m 84cm broad is to be paved with square tiles of
same size. Find the least possible number of such tiles required to pave the entire hall. / T

STIATPR gId FSIIP! daTs 25 HY, 20 AH TF ST 157, 849 B, THH YHM ATPR & PR
mﬁﬁﬁwmélﬁﬁﬁﬁﬁﬁmﬁ%m,mﬁmwﬁmﬁam
EIGK T

1. 660
2. 810
3.770

4. 840

Correct Answer :-
e 770

24) The numerator of a fraction is seven less than the denominator. If the numerator is decreased by
2 and the denominator is increased by 3, then the denominator is 4 times the numerator. The

denominator of the fraction is . /Wﬁ-ﬁﬁﬂ,mﬁﬁmm%l UI%GI'QT@Z'EET
faoTmuE R A3 AN e o, At e, ST P14 AT wTaT g | R T aR g

1.8
2. 11
3.13

4.6

Correct Answer :-

25) The total surface area of a cube is 54 cm?. Its volume is /

gcollegedunlag
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TS U9 &1 $d U5 &A% 54 A2 31 ST AMTAT &
1. 64 cm®
2.216 cm’
3.27 cm®

4.8 cm?

Correct Answer :-

26) The difference of two unit vectors is again a unit vector, then the angle between them is .
31 3T AfeRN (gfie AFe) BT 3ieR, [H: wmﬁwﬁm@ﬁzm% @A TF T B0
____®m

1, 30°

2. 907

3, 607

4, 45°

Correct Answer :-

27) The complex number 2—-3 represents the point in the x-y plane. / x-y HHdd ﬂ,

amgden -3 fdg_ @ fefia sxdi gl
1 (=23)

2. (2,-3)

3.(23)

4, (=2,-3)

Correct Answer :-

. (21 _3}

28) Which one of the following is the zero of the cubic polynomial f(x) = x3-2x2+4x-8?/

fFrafafad 7 A S AT T T8UE f(x) = x3 - 2x2 + 4x - § BT LA 8?2
1.4

2.3

gcollegedunlag



3.2

4.1

Correct Answer :-

29) CI.:0-5 5-10 10-15 15-20 20-25 25-30
f: 6 8 19 11 13 4
The lower limit of the class following the modal class of the above data is :/
Tt ot fFeraw dn, SR A T Se1 & uisa o & SaR 2l
1. 15
2.5
3.10

4.20

Correct Answer :-

30) If P and Q are the points (2, -2) and (5, 2) respectively, then3PQ =___./ afe P 3R Q hHXI:
g (2,-2) 3R (5,2) §, @ 3PQ =___ &NmI

1. 15cm/ 1599t

2. 12cm / 1294

3 3426 cm / 34/26 HET

4 34/5 cm / 345 HAT

Correct Answer :-

e 15cm/ 1594t

31) Generl solution of tan @ + tan 28 +4/3tanftan 28 =3 is A

tan @ + tan 26 ++/3 tan@ tan 26 =3 & THT & Bl

B=Gn+ﬂg
1.

i = Oneie
7 9

Qcollegedunlag
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m
6=03n+1)-
. 9

Correct Answer :-

g (3n+1};—r

32) The value of 'x'in 7%°2 + 73= {710 is./
7572 £ 3= Y70 F - HIAR R

1.3

2.5

3.7

4.9

Correct Answer :-

o 7
33) If cosecd = § . then the value of tand + secd = !
e cosecd =§ %, dF tan@ + secd T AT = Bl
1.5
2.2
4
=
3. 58
3
4, 4

Correct Answer :-

e 5
34) 142 1+£2
IfsecB= find cot6. / ATE secoH = = AT cota FamiferT)

gcollegeduniag



) If (2x ) =5 , then the vahue of 8x3-—= |

TR (2% -2) = 5 &, B - a2

1. 98
2. 106
3. 165

4. 140

Correct Answer :-

« 140

36) The simplest rationalizing factor of /48 is /

VA8 T TLoTdH U 0Tk (TRrTesarer thaed) § -

Correct Answer :-

gcollegeduniag



37) P
E
F
a R
In A PQR, E and F are the points on sides PQ and PR respectively. £Q =2EFP. If PE =3 cm,
PF=5cm,EQ=7 cm, FR =1cm and EF =4 cm, then QR = N,
A PQR#, 81T¢ PQ Ud PR QUHA: E U Fgl feld &1 £Q = ZEFP. zﬂﬁPE 3 9L,
PF=5YHAT, EQ=7YHI., FR=1Y#HI. Td EF=4%#AL. & df QR=
1.9 cm /9 A,
2.6 cm/ 6 M.
3. 12 cm/ 12 94T,
4.8 cm/ 8 GHI.
Correct Answer :-
. 8cm/89HI
38)

If p(x) = ax® + 2x* - 0 and q(x) = 2x°- 4x+aleave the same remainder when divided by (x - 2), then the

valie of 'a' = !
I px) =ax® + 2x2 -9 Ud q(x) = 2%° -dx +a &I (x -2) & Taenfag fear =mar & o 99
Aol YIcd GBIl &, dd ‘@’ &l Hd = BIaT|
6
=
1. ~
2
2 3
5
;3
4.

Correct Answer :-

gcollegedunla



39)
If ‘' m’ and ‘n’ are the zeros of the quadratic polvnomial fix)=x*—-3x— 18§,

1 1
then the value of — + == 2mn =
m T

afe ‘m” IR n {%‘EIHEI_‘E;TIE f(x)=x2-3x-18 ﬁﬂﬁ% Fﬂ'$+%—2mn FHIAA=__ G|

173

40)
If 4 and b are two parallel vectors with equal magnitudes, then: / Ie a Tdh THTA IRATT der gf

AL 9le3r &, 4arn:

—5
b

2
H

Il
=l

, a

N a.b=0

Emdgma}'urma}'notbe equal / gUdh HHA 30dT HAA & Thd &

Correct Answer :-

Emdgma}'urma}'notbe equal / gUdh HHA 30dT HAA & Thd &



Ifccsecﬁ"+cct€=%,th€n tand = A

ﬂﬁcnsec&+cnt€=%ﬂbrtanﬁf= Bl

H
5]

Correct Answer :-

44

42
) f25=3¥ — 5_3:ﬂ1m£+£+}=
& y =

A 27=3y =65, qd S+ -+ 1= %
x ¥ =

e 0
43 12
) The 10% temm nf(sz + E:] is i
12 ®
(23{2 +J—1$) &1 107 ug Bl

| 1760x3

1760
2. X°

153
3, X

1620
4. **

gcollegeduniag



Correct Answer :-

44)
In the adjoining fig. AD|BC. If 2ADB =§ /BDC and £BDC =§ /BCD. then Z/ADC =

Heree 7 . AD|BC &1 af& LADB =§ £BDC @7 £.BDC =§ /BCD%. ad 2ADC =

B]

1. 108°
2. 850

3. 1200
4. 969

Correct Answer :-

« 108°

45) (5+7i)(+/5— ?1}2 +(—2+7i)%ina+ib fom is

a+ibFTH (V5+ 70)(v5-71)" + (2 +70)? = 2l

(4545 — 45) + 406i
1.

5 544/5 + 406i
3 (5445 — 45) — 406i
. (54 — 45+/5) — 406i

Correct Answer :-
(544/5 — 45) — 406



46) 5

= ,thenr=__ ./
)

T
If (r + 1) term is independent of x in the expansion of (—Ef o
& L

qﬁ(af—i)?aswﬁ, r+DT e xATIdA R, Al r = Bl

1.8
2.9
3.7

4.6

Correct Answer :-

47) Iff(x)=vxand f(1) =2, thenf(x)=___ ./

e f) =T W@ (=28 a fx = __ B
%(X*ﬁ—- 2)

7 Vx+2

=x +2

SE/x+2)

Correct Answer :-

48) Ifcos@ =1, then sin 6 = | AE cosf=1 gy sinf =

1.0

2.1

Correct Answer :-

e 0

gcollegeduniag



49) P
— form of the decimal number 31,9373 is:/

: P
THoId AT 31.9375 & Emﬁz

511

16
1.

673
a2z

Correct Answer :-

511
16
50) Ifa, _i ¢ are non-coplanar, then fé'f&.z?% + g:g;g isequalto _ /
At d.b. ¢ sewaday, dr X L EExD) g
1.1
2.2
3.0
4. -2

gcollegeduniag



